_RCIl OFFROAD _X'~
RCI 24+ Tacoma Non-Hybrid Diff Skid Installation Guide

TEM NO.| PART NUMBER DESCRIPTION QY.
J880S 24+ Tacoma Rear
1 SMOOT792 Diff Skicd 1
18803 24+ Taco Diff Bottomn
4 SAMH00795 Pinion Clamp !
J88MS 24+ Taco Diff Top
5 SMO0796 Pinion Clamp 1
s BOM_KIT_DIFFERE 1
NTIAL HARDWARE
3/8-16 X 1-1/2 CARRIAGE
5.1 HW-00035 BOLT 4
§ HW-O0052 3/8-16 % 1 CARRIAGE BOLT g
GR-5
3/8 1USS FLAT WASHER THRU
6.3 HW-00026& HARD 8
5.4 HW-0002¢ 3/8 SPLIT LOCK WASHER ZINC 8
$5 HW-O0030 3/8-14 FINZI|—|NEé NMUT GR-5 g

UM LESS & THERWIE E $PECIFIED : FROFRIETARY ANE CONFIBEHTAL HALE bATE
DRAH % Sf R i
DIMEHSKHS &REIH IHGHES ::;IN‘D?MIDN COHIAMED 1IN
B, mecsmme oo | Bxport Date
T PmCEDECIMF\L a0 FARIDR AS & WuCHE s llWCU ] IHE
= WRINEH FEFMESD WO FCICHtraaa
THREE PL& CE BECIMAL £ 0010 E FTomIIED 5/2%/2024
RCI OFFROAD
TITLE:
TACO-24-DIFF-NOMNHYE
fterm Mumker REV
FG-00476 ]
DS NG SCAILE DRAW NG SCALE: 1.8 WEIGHT: SHEET1 OF &

Figure 1:BOM




=_RCl OFFROAD_ X~
INSTALLATION STEPS:

**Use hand tools, impact wrenches may cause damage if over torqued.

1. Begin by unpacking and removing all components and hardware. Please verify that all
hardware, components, and mounting components are present. Please reference your original
order invoice and verify all items are accounted for.

2. Using 2 sets of the included 3/8” x 1” carriage bolt, washer, split washer, and nut, secure the
lower pinion clamp to the differential skid plate.

a. Ensure the lower pinion clamp is centered on the differential skid plate and the edge of
the differential skid plate mounting flange is pushed as close to the bend in the lower
pinion clamp as possible.




=_RCl OFF ROAD_X~\

3. Using another set of the included 3/8” x 1” carriage bolt, washer, split washer, and nut, loosely
secure the upper pinion clamp to the lower pinion clamp.

.

@




=_RCIl OFFROAD_ X\

4. Lift the differential skid plate into position below the rear axle/differential with the differential
skid plate pinion clamps wrapping the front of the vehicle differential housing. Then, secure the
other end of the upper pinion clamp to the lower pinion clamp Using another set of the included
3/8” x 1”7 carriage bolt, washer, split washer, and nut.

a. Tighten the hardware securing the upper pinion clamp to the lower pinion clamp.




=_RCIl OFFROAD_ X\

5. Remove the bolt securing the vehicle brake line to the rear axle




=_RCIl OFFROAD_ X\

6. Insert the upper axle clamp on the driver side at an angle to allow the mounting face of the
axle clamp to drop in between the rear sway bar and the rear axle.




=_RCIl OFFROAD_ X\

7. Gently pull the brake line towards the rear of the vehicle to allow the upper axle clamp to drop
in between the rear axle and brake line.




=_RCIl OFFROAD_ X\

8. Slide the passenger side upper axle clamp in to position above the lower passenger side axle
clamp




=_RCIl OFFROAD_ X\

9. Use the 4 sets of 3/8” x 1.5” carriage bolts, washers, split washers, and nuts to secure the
differential skid plate to the rear axle

10. Tighten all hardware.



=_RCIl OFFROAD_ X\

Enjoy your new RCI protection!

Share your new install with us on social media!

We love seeing our products out in the wild!

www.rcimetalworks.com
sales@rcioffroad.com
970-797-3089

REV: 1| 9/29/2022

Disclaimer: The products sold by RCI Metalworks are intended for off —road use only, should not be modified, and are for use only on the vehicle(s) specifically
stated. RClI Metalworks makes no warranties express or implied, including of fitness for a particular purpose or merchantability. RCI Metalworks will not be
liable for any damages arising out of the use or misuse of its products. It is the customers' responsibility to ensure the products are safely and properly attached
to the vehicle, and all products should be installed by trained professionals. We strive to maintain extremely high-quality standards; however, all RCI
Metalworks products are individually handcrafted, may vary slightly, and may contain minor imperfections. Due to the nature of raw aluminum, the material
may have minor scratches and other blemishes caused by the manufacturing process, especially on the back side of product. RClI Metalworks is constantly
seeking to improve its products and reserves the right to make changes to any product.


mailto:sales@rcioffroad.com

